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Direction (1 - 6) : In the following
question, a sentence with four words
printed in bold is given. These words are
numbered as (1), (2), (3) and (4). One of
these four words may either be misspelt
or inappropriate in the context of the
sentence. Find out the word(s) that is
wrongly spelt or inappropriate and mark
the relevant option as your answer. If all
the words printed in bold are correct,
mark option (E), i.e. ‘All are correct’, as
the answer.

1. Speaking in silence (1) is the most
intimate (2) communication two beings
(3) can acheive. (4)

Al
B.2
C.3
D. 4
E. All are correct

2.The magician (1) made the rabbit (2)
dissapear (3) with a wave of his wand.

(4)
Al
B. 2
C.3
D. 4
E. All are correct

3.The union (1) scored a triumfh (2) in

negotiating (3) a minimum wage within
the industry. (4)

DR WNBHF

A.
B.
C.
D.
E. All are correct

4.A small percentage (1) reduction in
the cost of materials (2) would mean a
significant (3) increase in prophit. (4)

Al

B. 2
C.3
D. 4
E. All are correct

5.In 1970, a federal (1) agency was
created to coordinate (2) governmental
action to protest (3) the environment.

(4)
A. 1

AWN

B.
C.
D.
E. All are correct

6.A little bard (1) had already sung (2)
the good news in my ear; but it was

doubly pleasant (3) to have it straight
(4) from you.

DRWNRF

A.
B.
C.
D.
E. All are correct

7.Direction: Out of the statements given
below, one statement may be
grammatically and contextually correct.
Choose the correct statement as your
answer. If no statement is correct, choose
E, i.e. ‘None is correct’.

A. The group plans for concentrate on six
core businesses.

B. The shock of the explosion was feeling
far away.

C. The fruits did not perish because they
were packed in ice.

D. The forgetting girl could never

remember to wear her glasses to school.
E. None is correct

8.Direction: Out of the statements given
below, one statement may be
grammatically and contextually correct.
Choose the correct statement as your
answer. If no statement is correct, choose
E, i.e. ‘None is correct’.

A. The whole family worshipped together
on the chapel.

B. Sorrow and trouble either soften the
heart or harden them.

C. It is increasingly difficult to recruiting
and retain good staff.

D. Companies that are insensitive to
global changes will lose sales.

E. None is correct

9.Direction: Out of the statements given
below, one statement may be
grammatically and contextually correct.
Choose the correct statement as your
answer. If no statement is correct, choose
E, i.e. ‘None is correct’.
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A. A major sales spike occurred right after
the book was featured on the Oprah
show.

B. Even though it looked like the team is
losing, the fans held onto the hope that
they might make a comeback.

C. The college principle promised to look
into the matter.

D. The market was full of bright coloured
vegetables set out on stalls.

Direction: A sentence with one blank is
given, indicating that something has been
omitted. Choose the word that best fits in
the blank making the sentence
grammatically correct and meaningful.
10.

western lifestyles don't
allow people to have the time or head
space to really relax.

A. Rapid

B. Unhealthy
C. Hectic
D
E

. Sluggish
. Nomadic

#ad&ar (11 - 15) : frafaf@a dear Jger &
g e ‘2 & TUR W FAT HT AT ?
11.

24, 26, 22, 28, 2, 30

A. 19

16

27

24

20

moow

12.20, 10, 10, 15, 30, ?
A. 60
75
72
45
90

moow

13.40, 51, 64, 81, 100, ?
A. 105
B. 108

C. 110
D. 123
E. 130

14.11, 19, 28, 92, ?, 333
A 117
125
120
115
128

moow

15.1, 6, 13, 23, ?, 56
A 117
B. 125
120
115
128

mo o

f¥&er (16 - 20) : WeATaf@aT A & IreTgeT
Y 3R U 31T geaAt & e} &

o R v @iRoh @ #F, w @AREa
geagid 3R Acdifes et o 9T sefai- A,
B, C, D 3R E & 31 arel it &I dedm

ar s 8l
Frig A B C D E
HTEII‘EEF &=t | 180 | 350 | 250 | 320 | 450
= 300 | 400 | 450 | &0 | &00
16

gredifesd et W a9 A 3R a9 C & s
WY 3T aTel RIS T FE&Ar R aedeid
W F9M B 3T s9fr D & ue @y 3= are
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17.9cdgld RS9 C & 31 ared 3MMaTcIeht
Fr FgEar AR aeafee Gt W oS A A
A drel JETqet T TEIT # 3l AT
Hifaw
03
12

moowp
OO N = O N

19.9cd8id W 9T B 3R sy E & 3
arel 3T BT FEAr & AT 3R aredrfed
ool W 9 A 3R sofid D & 3 arel
HETTHT I HEIT & 1T & AT Tohefalr
gram?

12

moow»
N N M O =
(@) ]

20. 9T feaAr 3R HedEid W UER ary
T E A e ae 3eige & §eE,
rearfes feat iR deard | e a1y F9la
C # 3 aral IWigH H FEwr & fhc
gfcerd e g7

A. 40%

B. 50%

C. 60%

D. 75%

E. 35%

A&y (21 - 25) : P=fafRa TweERr &t
eegdsd 9¢ R T aIv weat & 3ok &

3TS sgfFaat 37T A, B, C, D, E, F, G 3R
H T STeA Teh g1 a¥ & 3715 Al # g3 ol
Y AR Sialy, A, HS, S, Sells, 39,
AasR 3R GEsR g1 ag omer ooH 3 A
g3 & 98 F 3R B a1 g1 G 3R 3oea A
Sed cAfFd & ST g A FFeA ga
FIGINEF g & g @ 3w caFaat
T A 6l I &l E AR H & g & A
IfFIIT T ST EIT &l A FT Sed H & 8
qﬁgw%ﬁ%gaé%maﬁgmﬁH
IRC F g & &7 & 7 T AFd Fr
Wgﬂ%leA%mﬁaﬁm
Eaf?cltﬁwamgaﬂ%‘leaFﬂFﬁqﬁ
3T &1 B 3R H & &g & v @ 30 afea
T ST g3 &l

21.

fArifafad # & e 7 & D &7 Fer gam
g2

A. 3TEd

B. dds}

C. T

D. S[eli$

E. 5981 & I et

22.%mﬁ@aﬁﬁ%ﬂa?ramm%‘rﬁ§m

moow>»%
I w o >m

23.B 3k C & fIg # fohasr IiFadT &1 JFod
g &
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A. BF
B. IR
C.ar
D. diT
E. g

24 Fafaf@a § ¥ Fi9-A1 U 30T g2
A.Aa:raFnGa?&Eaﬁﬁgm%"l

B. B 3R H & &g & o safFaar &1 Sea
837 &l

C. F & =R fq&HsR # §37 ¢

D. H & S8 Selis # gaT ¥

E. 5 & g =Aet

25.FIefEd o & ¥ IR fedr WREa
TR @ THEA § AR safav d6g o gl
SEH U T W FHE @ FUT A 872

moow»
W O T O ™M

A& (26 - 28) : Arfaf@d S=FaERT Fr
Y deh U¢ AR T T geat & Jea¥ &
fig A, g B & 12 #iiex qd & &I f§g C,
Rig P & 15 #iex g8 # &, s fig M & 10
xR A ¢ §g 0, Mg Q & 16 Fex 7@
7% g E g M & 22 ey qF & §1 g
Q, g A & 20 #ex & 3@ & 71 &g B, g
E & 6 #Hiex gf@or & gl

26.

foig P fdg B & o feem & &2
A. 3c

B. 3ccR- 9fRaH

C. 3cR- @

D. uf¥as

E. 5 ¥ @15 a¥el

27.8g E 3R g Q & &g =ge1as g
g2

A. 16 #reX

B. 489 #Hrex

C. 21 #ix

D. 2V85 #Hiex

E. 517 & 15 el

28.f3g A, g C & fora foem # g7
A. &feroT- qd

B. 3ca¥- UidaH

C. 3cR- 4@

D. ufRas

E. 35 & &Ig el

29.TEAT 38764583 F W farcda A oA §
S @ 9% & o 3mer 3 @ gt 3R
3 81 3 ¢ e @l o g 82

A.ar

B. di=T

C. IR

D. IR & 3+

E. 517 & 15 el

30.af¢ eg "GRACEFUL" & g®, o,
gad AR Aad ER 7 & v 3T ereg
Tl THT g, o 39 s & 3ifadA 378 Fia-
|1 gem? Al TAT IS req FE T ST Hebel
gl 39T 3caR N & & & &, Ife 0 =
T 3F e I Fohdd g, dl JIAT ek ‘M’
& T H

A M

moow
Z > Cc m
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## #ANSWERS# # #

1. Ans. D.

The error is in the spelling of ‘achieve’
which has been misspelt as ‘acheive’.

2. Ans. C.

The error is in the spelling of ‘disappear’
which has been misspelt as ‘dissapear’.
3. Ans. B.

The error is in the spelling of ‘triumph’
which has been misspelt as ‘triumfh’. So,
the correct option is B.

4. Ans. D.

The error is in the spelling of *profit’ which
has been misspelt as ‘prophit’. So, the
correct answer is option D.

5. Ans. C.

The word ‘protect’ is a contextual misfit
here. As we are talking about an agency
that was created for a purpose, it cannot
be to ‘protest’ the environment, but it can
be to ‘protect’ the environment.

6. Ans. A.

Note that the use of the word ‘bard’ is
incorrect here. ‘Bard’ refers to a person
who writes poems; a poet, but as we are
talking about a piece of good news that
came flying to someone, so the context
demands the word ‘bird’. Also as we have
the adjective ‘little” used which cannot be
used to describe a ‘poet’ for sure. So,
here the correct option is A.

7. Ans. C.

Note the errors in the given sentences:
A: The preposition ‘for’ is incorrect, it
should have been ‘to’ instead to connect
two verbs ‘plans’ and ‘concentrate’.

B: The error is in the tense of the
sentence. The explosion was experienced
in the past, that can certainly not be a
continuous state. So, use of ‘feeling’ is
incorrect. We need to replace ‘feeling’
with *felt’ to rectify it.

C: Option C is grammatically and
contextually correct.

D: We need an adjective to describe the
girl. Instead of ‘forgetting’ it should have
been ‘forgetful’ to ride the sentence
grammatically correct.

So, the correct option is C.

8. Ans. D.

A: The preposition 'on' is incorrect. It
should be 'at' to specify the exact
location.

B: It should be 'it' instead of 'them' for
the subject here is 'heart' and not 'sorrow
and trouble'

C. As per the rules of parallelism, it
should be 'recruit' and not 'recruiting' to
match up with 'retain' used in the given
sentence.

D: This is grammatically correct

9. Ans. A.

A: This is grammatically correct.

B: The use of present continuous tense is
incorrect. So, it should be 'would lose' to
instantiate prediction, instead of 'is
losing'.

C: The use of the 'principle' is incorrect.
It should be replaced with 'principal’
according to the context.

D: Here we need an adverb for the verb
'‘coloured' and not an adjective. So, it
should be 'brightly' and not 'bright'.

10. Ans. C.

The sentence mentions " people to have
the time or headspace to really relax".
This means they are very busy. To
describe this kind of lifestyle, the correct
adjective will be 'hectic' which means 'full
of incessant or frantic activity'.

The correct answer is C.

11. Ans. E.

Pattern of the series is:

24 + 2 =26

26 -4 =22

22 +6 =28

28 -8 =20

20+ 10 =30

12. Ans. B.

Pattern of the series is:

20 x 0.5 =10

10x1 =10

10 x 1.5 =15

15 x 2 =30

30x 2.5=75

13. Ans. D.

Pattern of the series is:

40 + 11 =51
51 + (11 + 2)
64 + (13 + 4)
81 + (17 + 2)
100 + (19 + 4) =
14. Ans. A.
Pattern of the series is:
11 + 23 =19

19 + 32 =28

I
= 00 O
o~ RN

51 + 13
64 + 17
81 + 19
100

S
I

+
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28 + 43 =92

92 + 52 =117

117 + 63 = 333

15. Ans. A.

Pattern of the series is:
1+5=6
6+(5+2)=6+7=13
13+(7+3)—13+10—2
23 4+ (10 + 4)
37 + (14 + 5)
16. Ans. D.
The number of visitors to garden A on
weekdays = 180

number of visitors to garden C together
on weekdays = 250

The number of visitors to garden B on
weekend = 400

and number of visitors to garden D
together on weekend= 550

required difference=  (550+400) -
(180+250)

= 520

17. Ans. B.

Number of visitors to garden C on
weekend= 450

number of visitors to garden A on
weekdays= 180

required ratio = 450 : 180

=5:2

18. Ans. E.

Number of visitors to the garden D on
weekdays= 320

Number of visitors to the garden B on
weekend= 400

\O-b

3
37
56

-
ﬁx 100

Required Percentage= 400

=80 %

19. Ans. D.

sum of the number of visitors to garden B
and the number of visitors to garden E on
weekends = (400+600)

=1000

sum of the number of visitors to garden A
and the number of visitors to garden D on
weekdays= (180+320)

=500

required ratio = 1000 : 500

=2:1

20. Ans. B.

Total number of visitors, who visited
garden E on weekdays and weekend
together = (450+600)

= 1050

number of visitors, who visited garden C
on weekdays and weekend together=
(250+450)

= 700

50—
1050—-700 <100

Required percentage= 700
=50%
21. Ans. A.

Month

January E

March
May

June

July
August
November
December
22. Ans. D.

People

OlTnI9 ||| @

Month

January E

March
May

June

July
August
November
December
23. Ans. E.

People

OO0 @
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Month

People

January

March

May

June

July

August

November

December

OIlT|IO|lT|I>|G)] W

24. Ans. C.

Month

People

January

March

May

June

July

August

November

December

OO ||| @

25. Ans. A.

Month

People

January

March

May

June

July

August

November

December

O|lT|O|Z|I>|0)] @

26. Ans. B.

Q 16ecm 0]
P_1sem C
10cm 20cm
22cm
E:
M
6cm)
B 12cm A
27. Ans. D.
Q 16cm [¢]
P 15cm C
10cm 20cm
22¢m E
M
6cmy
B 12cm A
28. Ans. A.
Q 16cm (0]
P_15m C
10cm 20cm
22¢cm E
M
6cmy
12cm A
29. Ans. D.

Thus, there are 6 such pairs- 2
forward(36 and 45) 2 backward (67 and
68 ,35 78).

Hence, Six is the correct answer.

30. Ans. D.

2nd, 3rd ,5th and 8th letters of the word
= R,AE,U

Meaningful word- UREA
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